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QUIZ 8 (BIOL268)                                            SIS ID     

   
1) Which of the following bones is not part of the appendicular skeleton?

A) scapula    B) tibia     C) sacrum       D) coxal bones       E) clavicles
2) Which of the following constitutes the pectoral girdle?

A) clavicles only             B) clavicles and scapulae         C) clavicles, scapulae, and humerus

D) clavicles, scapulae, humerus, radius, and ulna

E) clavicles, scapulae, humerus, radius, ulna, and carpal bones

3) Which of the following is most commonly fractured in a fall?

A) radius    B) scapula     C) clavicle     D) sternum     E) glenoid cavity

4) The appendicular skeleton includes the bones of the upper and lower extremities and their supporting elements called

A) joints.     B) girdles.     C) sutures.      D) ball and socket.     E) rotator cuffs.

5) The trochlea is located on the

A) tibia.     B) humerus.     C) radius.     D) scapula.     E) ulna.
6) In the anatomical position, the ulna is located ________ to the radius.

A) distal     B) proximal     C) medial      D) superior     E) lateral
7) There are ________ carpal bones located in the wrist, which form ________ rows of bones.

A) 2; 8      B) 10; 3      C) 4; 2      D) 8; 2     E) 6; 2

8) The bones that form the fingers are the

A) carpals.  B) tarsals.    C) metacarpals.     D) metatarsals.      E) phalanges.

9) The bones that give the hand a wide range of motion are the

A) carpals.    B) tarsals.    C) metacarpals.    D) metatarsals.     E) phalanges.

10) Which of the following is not an upper limb bone?

A) ulna    B) radius     C) humerus     D) metatarsals     E) carpals
BONUS:  The bones that form the palm are the

A) carpals.    B) tarsals.    C) metacarpals.     D) metatarsals.     E) phalanges.

